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Haryana Staff Selection Commission
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Adv. No. 1/2019 Cat. No. 01, Junior Engineer (Electrical)
(Uttar Haryana Bijli Vitran Nigam Limited, Haryana)
Morning Session

Q6. is the synonym of "RAGE".

A. Calm B. Quiet

C. Anger D. Serene
Q7. is the antonym of "CORDIAL"

A. Friendly B. Warm
C. Rude D. Pleasant

Q8. Identify the meaning of the idiom in the sentence.

"I am late as I got held up at the office."
A. Stopped B. Detained
C. Delayed D. Kept

Q9. Sentence given below may contain one or more mistakes. Identify the correct sentence.

"I wrote last week a letter to him."
A. I have written him a letter last week. B. I wrote a letter to him last week.

C. I wrote him a letter last week. D. I have wrote a letter to him last week.

Q10. Complete the sentence by choosing the correct form of the verb given in brackets.

Vishnu and Vishal (like) to read books about stars.
A. liked B. likes
C. like D. liking

Q11. During the Indian National movement, Shaheed Bhagat Singh belonged to the
group who believed in adopting violent methods and aspired to organise an
armed mass revolution to drive away the British from the country.

A. Moderate B. Extremist

C. Revolutionary D. Nationalist
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Q11. R T st F ek, ade st g, g ¥ waAfT & S Faw alw F e A
freara #Xa & 3R g2r & AT F WA F AT TF FAET FTAHER FT HASIA FIAT GI8ed A

A. FEIH B. 3rfcardr

C. sifasry D. Irsgarer

Q12. In the 16th Lok Sabha, seats go to the nominated members of the Anglo-
Indian community.

A.5 B. 4

C.2 D. No such reservation

Q12. 16 df dFwsT #, HIE TTe-3Ru FAE & MR gewal & ar Fwe #

A.5 B. 4

C.2 D. UHT IS 3RETOT g1

Q13. According to our National Forest Policy, what percentage of land area should remain
covered by forest to maintain Ecological balance?

A. 5% B. 10%
C. 33% D. 80%

Q13. gAY TS gt Ay & AR, IRPUTATF Fgerar Y a0 T@a & fow (A &= 1 frcan yidera, Soa @
&1 g Tifee?

A. 5% B. 10%
C. 33% D. 80%

Q14. Who wrote 'Natya - Shastra’, which is the main source of India's classical dances?
A. Bharat Muni B. Nara Muni
C. Abhinav Gupt D. Tandu Muni

Q14. 'AT-are’ frast @ a1, I R F AT T F AT 9 82
A. 8RR Hfa B. R Al

C. 3iffieta e D. dg A
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Q15. Haryana state was carved out of Punjab on basis.
A. Religion B. Linguistic

C. Population D. Geography

Q15. gR=mT TsT FT AHATT & YR W Y=g & F BFam aram am|
A. 3y B. T

C. memdr D. 3

N

Q16. Who won the First Battle of Tarain?

A. Mohammed Ghori B. Govind Tai

C. Prithviraj Chauhan D. Jayachandra

Q16. aTE # gud 731 fraa Sedr?

A. AlgFAG Y B. fdg as

C. 9IRS wiglet D. S

Q17. Commission was established to divide and set up the boundaries of Haryana
and Punjab.

A. Shah B. Sarkaria

C. Hukam Singh D. Kothari

Q17. gl 3ix gome i @it # Fanfaa it AuiRa := & [diw ITANTT Y FTUTIAT Y 7S oY)
A. Mg B. EX&IRAT

C. g 8 D. HISRT

Q18. The new All India Institute of Medical Sciences (AIIMS) is to be set up at
district in Haryana.

A. Rewari B. Ambala

C. Mewat D. Rohtak

Q18. gRamom F o & v av @ s srgfdwrea deare (AIIMS) $T TATgar Y ST 2
A. Yarsr B. 3{&Telm

C. Adrd D. Jgds
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Q19. As on 1-April-2019, how many parliamentary constituencies are there in Haryana?

A. 11 B. 10
C. 12 D. 13
Q19. feaiF 1-3a-2019 a%, gRION F fFaa FwdT Aatwer & &2
A. 11 B. 10
C. 12 D. 13

Q20. As on 1-April 2019, the minister of Sports & Youth Affairs, in the Haryana Cabinet is

A. Shri Narbhir Singh B. Shri Manish Grover

C. Shri Vipul Goyal D. Shri Anil Vij

Q20. R+ 1-3r% 2019 T, gRATon AHT & a1 F R @er 7, gl
A. #r TR g B. & A X

C. A faqer et D. &Y 3ifaer o

Q21. The proposed Renukaji Storage Dam Project, as part of the Renukaji Multipurpose
Dam project, is to be built on which tributary of the Yamuna river?

A. Chambal B. Giri

C. Tons D. Sindh
Q21.WWWWW#W%@*W#W@HWWWWW,W@
A FY TegIH A4 W T8 A=Y 82

A. TFEA B. &

C. a8 D. Ry
Q22. Manu Bhaker, who hails from Jhajjar, is a famous

A. Hockey player B. Wrestler
C. Badminton player D. Sports Shooter
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Q22. FISoR F @ AT ] A U WRAGH gl
A. T oy B. Ugolare
C. SsfFea f@amsr D. T [Aemaers

Q23. The official language of Haryana is:

A. Haryanvi B. Bangur

C. Punjabi D. Hindi

Q23. RO it AIHERY T B:

A. gRrordr B. SR

C. gt D. f&dr

Q24. is a famous poet and humorist of Haryana.
A. Kapil Sharma B. Surender Sharma
C. Ashok Chakradhar D. Pt. Neki Ram
Q24. FRAOT & vF gy 17 AR [ae §

A. Hiter erAT B. Tz AT

C. 31lleh TheR D. ufsd ST I

Q25. Who published a weekly magazine 'Haryana Tilak' in Urdu and Hindi from Rohtak
during the freedom movement?

A. Shri Raja Ram Shastri B. Pt. Neki Ram Sharma

C. Pt. Shri Ram Sharma D. Shri Bishambar Nath Kaushik

Q25. FacAdT e & Rt fraet Vgas F 38 3R T F "gRamon Res' awrs arcafes afe g 6 62
A. A TSI A ATET B. GfSq wiehr T QAT

C. ufsa #r T+ & D. A e &y &ifAn

Q26. Which amongst the following is mined majorly in Mahendragarh district of Haryana?
A. Slate B. Iron
C. Coal D. Bauxite
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Q26. RN ¥ AiEIE o # et # F A1 woTw T @ @ T S 2

A. FolT B. &gt

C. I D. diFarse

Q27. Currently, Haryana has wildlife sanctuaries.

A. Four B. Three

C. Two D. Eight

Q27. A A, gRmon & TEISNT IR0 E

A. IR B. dleT

c.ar p. 313

Q28. Haryana is bordered by and to the north.

o8]

A. Punjab, Himachal Pradesh . Punjab, Rajasthan

C. Rajasthan, Uttar Pradesh D. Himachal Pradesh, Rajasthan
Q28. g # 3ad dFr | ik e §

A. Yolte, fRATEer 9eer B. GaiTe, JeTEATeT

C. TSTEYT, 33T Fe2r D. feATae ycer, TTEdTT

Q29. Markanda river originates from the

A. Shivalik hills B. Aravalli hills
C. Sohna hills D. Morni hills
Q29. ATz 7 ¥ s 81

A. Riarfas ggrar B. 3RIaell Ugrsr
C. HIg=T JgTST D. #HRE dgrst

Q30. What is the approximate forest cover in the state of Haryana?

A. 800 square kilometers B. 1200 square kilometers
C. 1500 square kilometers D. 1000 square kilometers
May 1, 2019
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Q30. gRATOM T=T H AN fFaam a a7 82

A. 800 TIT frelidicx B. 1200 T3 frelidfiex

C. 1500 F97 fheiefiex D. 1000 337 fareieiiex

Q31. The current Haryana Legislative assembly comprises of members.
A. 92 B. 90

C. 85 D. 80

Q31. gdA RO R # #ew T g

A. 92 B. 90

C. 85 D. 80

Q32. is the biggest constituency of Haryana Legislative Assembly in terms
of area.

A. Kaithal B. Faridabad

C. Hisar D. Jind

Q32. &%e T T A RO fruTer T FT FER agT At & g

A. Faa B. ®w{igraTg

C. RaR D. Sife

Q33. The female literacy percentage in Haryana, as per 2011 census is: (rounded off to the
nearest whole number)

A. 85% B. 66%
C. 73% D. 54%
Q33. 2011 F¥ FAOET & HTAR, gRAON F AfRAT wawar F1 yfdera ¢ (Meeas of ve #)
A. 85% B. 66%
C. 73% D. 54%

Q34. Which city of Haryana is known as "City of Weavers"?
A. Rohtak B. Panipat

C. Hisar D. Rewari
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Q34. gRToT F R AT F "TARU FT A" FeT AT 82
A. Ugds B. dreilad
C. gar D. arsr

Q35. Which is the biggest exporter of henna in India?
A. Rewari B. Gurgaon

C. Faridabad D. Rohtak
Q35. ¥R H Agdl T I 37 [AATaH i §2

A. 3@rdr B. 9[59Td

C. wiersre D. Vgash

Q36. Biggest Animal Fair in Haryana is heldin ______ district.

A. Jhajjar B. Gurugram

C. Bhiwani D. Sonipat

Q36. eRATT A wed agray AeT ____ forer & 3o e smar 81

A. STooR B. &amH

C. famt D. Hifad

Q37. The first CNG train of India runs between Rohtak and of Haryana.
A. Bhiwani B. Jhajjar

C. Rewari D. Jind

Q37. 5 1 ygelt &.uaA.3f. &, gRFon & Jgaw 3R & i T 8

A. fRarEr B. 3ToaR

C. asr D. Sfig

Q38. In the dance form, the songs are in the question and answer format.
A. Loor B. Phag

C. Raas Lila D. Jhummar
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Q38. T T H, M, ware 3 3 F T H @
A. T B. BT
C. I el D. 5FR

Q39. Which fair of Haryana is called "craftsman's kumbha"?

A. Teej Mela B. Diwali Mela

C. Pehowa Mela D. Surajkund Mela
Q39. eRATT F By A F "FRERT FT FH" FFT AT 82

A. ST Far B. fearelr #Helr

C. Ugrar #ell D. IXeTHs Aell

Q40. Find the odd-one out in the following series:

Google Chrome, Internet Explorer, Firefox, Microsoft Windows
A. Internet Explorer B. Microsoft Windows

C. Firefox D. Google Chrome

Q40. farafaf@a & ¥ Rvw-eree ga:

T FIA, $EAC TFATARY, FRGIH, ABFEITE f&ster

A. AT TFECAIRT B. ASHIEe &8s

C. BRTGBIFH D. T 1A

Q41. Choose the correct option that best expresses a relationship SIMILAR to that
expressed in the original pair:

Mango: Fruit :: Bitter Guard:
A. Green B. Vegetable
C. Bitter D. Long
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Q41. we RFew I St ST § wrawy R@mar ¢ Sty arawwr srwel S e 8
3TH: Bl 12 HT &
A BT B. Hsail

C. shsar D. of&dr

Q42. Find the next number:

1,5,12, 22, 35,

A. 42 B. 47
C. 59 D. 51

Q42. 37Tl Fa gé:

1, 5, 12, 22, 35,
A. 42 B. 47
C. 59 D. 51

Q43. In a code language if QUESTION is coded as RWFUUKPP, then ANSWER will be coded
as

A. BPTYFT B. BOTXFS
C. BMRVDQ D. BPRTVF
Q43. T& Fi5 #19 &, I QUESTION &Y RWFUUKPP fa@r sirar § af ANSWER &Y #1 for@r simwan?

A. BPTYFT B. BOTXFS
C. BMRVDQ D. BPRTVF

Q44. Find the probability of drawing a slip labeled as 5 from a bag containing 4 slips labeled
as 3,5, 8 and 9.

A1 B. 1/4
C.2/4 D. 3/4
Q44. 3, 5, 8 3k 9 A=Y Fr gAY a1 TF dor H A 5 FAG A gt & Ahrer I A FoTSAAT AT FAI
A1 B. 1/4
C.2/4 D. 3/4
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Q45. Divide Rs. 90 in the ratio 1 : 2 between Ajay and Abhi.

A. Ajay = Rs. 70, Abhi = Rs. 20 B. Ajay = Rs. 50, Abhi = Rs. 40
C. Ajay = Rs. 30, Abhi = Rs. 60 D. Ajay = Rs. 40, Abhi = Rs. 50
Q45. 90 T F IrorT AR AW H 1 : 2 F g # i

A. 35 = 70 T, Hfd = 20 T B. 3151 = 50 ¥9Y, 31 = 40 T
C. 351 = 30 T, 7 = 60 T D. 351 = 40 9, 3T = 50 T

Q46. Rahul purchased a cycle for Rs. 800 and sold it for Rs. 1040. Find his gain percent.

A. 10% B. 15%
C. 20% D. 30%
Q46. IE A 800 TUA # v Wigfher @lar 3R 3/ 1040 T9 & ¥ feam| 3@ Fraam yfdrera wmr gam?
A. 10% B. 15%
C. 20% D. 30%

Q47. What is the bending of light rays, due to a change in speed as the rays pass through a
substance, called?

A. Reflection B. Refraction
C. Diffusion D. Diffraction

Q47. TF 9T § @1 J[eI arelt Fehrer iy ot i arfer & afacder glar & wwror o & o Fr aftear #r Fr
T SATaT 82

A. e B. 39ace

C. ¥8R D. faads

Q48. The of a substance does not change when a physical or chemical change
occurs to the substance.

A. density B. mass

C. state of matter D. colour

Q48. % gard # it a1 terafas aRade @ W, 37 e & # F1§ yRada a1 gar &

A. Telca B. gegAT

C. gerd &Y 3raear D. @
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Q49. What is function of a leaf?

A. Photosynthesis

C. Transporting nutrients

Q49. gt FT F4T FRT §?

Morning Session

B. Water transportation

. Preventing desiccation

A. ThIRT HLAYOT B. STol URdgeT
C. 9IS ded gl D. g@a & Ushall
Q50. 1 metre = ? millimetre

Al B. 10

C. 100 D. 1000

Q50. 1 #Hex =? A

Al B. 10

C. 100 D. 1000

Q51. Why do we provide a fuse in an electric circuit?
A. To reduce the current flow in an electric circuit B. To reduce the power consumption of appliances

C. To safeguard the installation against heavy
current

Q51. % safdes affe # v F4 varT B i 82
A. sofFce gfhe F e & YaIg & FF o & oT B. 3Uaull FT fasTell I @IT T HF e & folw
C. 8 YT o TaveH SECTORIET &l FEId el & fIr D, Tfeeh Trel & Fug &l Aol o faIw

D. To prevent the accumulation of static charge

Q52. Electrical Resistivity or specific resistance is measured in « (SI units)

A. (Qym?2 B. /m

C. O-m?2 D. Om

Q52. faggd wferieraar sryar fafise gferyer (SI gfae) & AT ST B

A. Q/m? B. (I/m

C. (O-m2 D. Om
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Q53. If a current of 5 ampere flows for 1 minute, find the quantity of electricity transferred.
A. 300 Coulomb B. 12 Coulomb
C. 5 Coulomb D. 0.08 Coulomb

Q53. 3y 5 TrdRR A faggd urT 1 Aee F v yaria gt & | o FuaraRa Rsre fir amEr @ e
A. 300 FHerFs B. 12 FoFq

C. 5 Fere D. 0.08 FHews

Q54. The output of a voltage divider is 16 V with no load. When a load is now connected,
what happens to the output voltage?

A. Zero B. 16

C.< 16 D. > 16

Q54. tF dleesr SAT$ST FT A13eYe faar el (R & 16 V 7 | 1@ F$ %R SN3T SA1e ¢, Ir3eye aleest W FT
CEIC R

A. B. 16

C. < 16 D. > 16

Q55. Why are separators provided in a lead-acid battery?
A. Reduce polarisation B. Prevent corrosion and increase life of battery

C. Prevent flow of current D. Prevent internal electrical short circuits

Q55. iE-tflE I & Rures F4t ve= Y a1 §2

A. YATRIOT & e & folT B. &R0T Jehet 3TN ST T FRISTeT dere & folT
C. g & garg &I At & fow D. 3dRe gafFeae ¢ TfFe A Asha F AT
Q56. 1 Watt is equivalent to

A. 1 Joule/second B. 1 Volt/metre

C. 1 Newton/metre D. 1 Ampere/metre
Q56.1ac___ % SUel @\ 8

A. 1 S[el/qs B. 1 dlee/#HIeX

C. 1 7gga1/feX D. 1 TFdiR/#Hex

May 1, 2019 Page 14 of 25



Haryana Staff Selection Commission

Government of Haryana

Adv. No. 1/2019 Cat. No. 01, Junior Engineer (Electrical)
(Uttar Haryana Bijli Vitran Nigam Limited, Haryana)
Morning Session

Q57. Select the equation that will give the total resistance (RT) of three parallel resistors
(R1, R2, R3) connected in parallel in a circuit.

A RT=R1+R2+R3 5. RT =R1 X R2 X R3
1_1+1+1 RT_1+1+1
- RT R1 R2 R3 5 " R1 R2 R3

Q57.waﬁrc#,mmmm#s§§cahﬂmmﬁ(m, R2, R3) #T Fel FoRIY eI I arel
FHYRIOT T TAT FLI

A RT=R1+R2+R3 5. RT =R1 X R2XR3
1_1+1+1 RT_1+1+1
. RT R1 R2 R3 \ " R1 R2 R3
; i
i2
— i5
B "\
/_r \l<< 4
/3
Q58. 4 R

Refer the given circuit. Which of the following equations is correct about the current in this
network, according to Kirchhoff's Current law (KCL)?

Alil =i2+i3+i4 +i5 B.il+i2+i3=i4+i5
Cil+i2+i5=i3+1i4 D.il1+i5=i2+i3 +i4
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Q58.

few 7w wffe Ft &d| qur fBFRETe & df iE Fe F HTAR, 39 Acad # Fe F IR A Ffafla § F sta ar
FHIFIOT W & SHHT fAUROT FX?

A il =i2+i3+i4 +i5 B.il+i2+i3 =i4 +i5
C.il+i2+i5=i3+i4 D.il +i5=i2+i3 +i4

Q59. Resistance of a wire of length L metres is R ohms. What happens to the resistance if
the wire is stretched to 2L?

A. Remains the same B. Increases by 2 times

C. Increases by 4 times D. Decreases by 2 times

Q59. L #leX i dFa1$ & Tah ar FT 9fade R 37 § | I ar 2L a= $ar g aY vfaier @ 41 wena @en?
A. F1g IRac w1gt gram B. ST §G SIRem

C. IR [T §¢ SRR D. GI[AT A g1 SIAam

Q60. According to Maximum Power Transfer Theorem, maximum power is transferred from
an AC network to a load when

A. Load impedance (Z.) must be equivalent to B. Load current (I.) is equal to short circuit

Z11 (complex conjugate of corresponding circuit current (Isc) multiplied by internal resistance of
impedance) the circuit (Rint)

C. Load impedance (Z.) must be equivalent to D. Load current (I.) is equal to short circuit
inverse of Zty (complex conjugate of current (Isc) divided by internal resistance of the
corresponding circuit impedance) circuit (Rint)
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Q60. HAFAH ATFT IHeOT TAT TAT & HAR, T HAFAH T FT AC Aca® § A3 W TATAGR g Srar
aa___ 00|

A. s gfaarer (Z,) & Zm (o IRy gidsTer &1 B. oI5 & (IL), Alhe & MR FTRIET (Rint) & 0T

Sifeel TYFA) & SR glalr AT e fhe HIE (Isc) & SR T &
C. o3 9faemeT (Zy), Zm (F9rd a9 gfdemer & Jfeer D. &S ae (1), Ffhe & 3mafike 9faiier (Rine), S@RT
HYTH & A & SR glall AT yafara e Ffdhe e (Isc) F ST BlaT &

Q61. Why do we use carbon brushes in electric motors?

A. To transfer electricity to the commutator B. To prevent short circuit sparking when current
is flowing to the commutator

C. To strengthen the armature winding D. To prevent wear and tear of the winding

Q61. &F FafFeced AleH & FEaT U FT 3TANT F4T Fta &2

A. ReqRade &l [Felell ged® Hilel & foT B. STa eFraRades # sic yarfed & T &, af ome dfdhe
TTTRAT T Ahet & ToIT

C. R aTSfEa Y AT HA & faTw D. argfSar &l ge-phe & Ashel & foIw

Q62. If we need to generate large current, which winding is preferred on the DC
generators?

A. Wave winding B. Duplex wave winding

C. Lap winding D. Both lap and wave windings can be used
Q62. Ife g & URT 3cqeet FIA AT HMARIFAT ¢, A DC FaXeX W FlaT W agfEor 3ugea gz

A. 3T aEfEa B. Seor 3 arsfe

C. oy arsfar D. gial o9 3R g arSfSar 1 39T foram ST Hhell &

Q63. By reducing the thickness of laminations, the Eddy current losses in a transformer

A. is reduced B. remains the same

C. is increased D. keeps fluctuating
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Q63. AR A AeT$ F F7 T W, FA TAERER A siaw ary A gfA |
A. FH g ST B. SO o &9 &
C. g o & D. ged sed! Tl &

Q64. A 10-pole high-speed alternator rotates at 600 rpm. What will be the frequency of the
AC voltage in cycles per second?

A. 120 B. 100
C. 80 D. 50
Q64. & 10-9Id &I 3= Ifal TeA@fel 600 rpm W AT ¢ df WiEFer/qFs 7 AC Qe 1 A 741 Freft?
A. 120 B. 100
C. 80 D. 50

Q65. Which of the following is an important condition to conduct the Sumpner's test on
transformers?

A. Can be conducted only on actual load B. Can be employed only when two identical
transformers are available

C. Can be conducted only when the transformer D. Can be performed only as Short Circuit (S.C.)

gets high power test

Q65. THHHR H FFIR FT GH&T0T X & fow, Arafaf@a & ¥ sia & v aAgcayet ot 32

A. Hadl IXATdS olIs W TSI ThAT ST Tohll & B. dhadl &l AR HBER 3UdsY 8l WX Haiteid
TR ST Thell &

C. &ael ol AT fHAT ST Hehell § SIF SEGEFT & D. dhdel 2ie Gfdhe (S.C) qdietor & &9 7 weiig fxar o

3oa afda Ferdr & bl §

Q66. Which of the following statements is TRUE about the relationship of maximum torque
and rotor resistance in a 3-phase induction motor?

A. Maximum Torque is Directly proportional to B. Maximum Torque is Directly proportional to
rotor resistance square of rotor resistance

C. Maximum Torque is Indirectly proportional to D. Maximum Torque is independent of the rotor
rotor resistance resistance
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Q66. 3-F3 WT AT # 3rfFae aer mept 3 gois afoiy & Fraey & Pl a1 Fua w7 32

A. TR deT YT, FoTeh FicRIY & FAEUCT gIaT g B. 31T&ehas Sof 3TEQY, GUTh FTRIEr & a7 & FHAII
g e

C. HTRIhc# Fof 3TN, IvcTeT &9 A goieh TioRIY & D. 3if¥shds Fer ey, gute Yfaier § FadT 8T &
31T Bl &

Q67. When classifying the hydro electric power projects based on the type of flow of water
in the water turbines, the Kaplan turbines are

A. Tangential flow turbines B. Inward Radial flow turbines

C. Axial flow turbines D. Impulse turbines

Q67. I« 833! SfFeH ¥ IRAISIHT Y, Tt & cagal 7 Ut & 9aTe & IFR & YR W AP Fd ¢, at
$IAT AT g &l

A. T yaTg exaTssT B. 3dRe I3Te yag eXas
C. 376 yarg el D. 3139 st

Q68. Which of the following CANNOT be used as an atomic fuel in a nuclear power plant?

A. Uranium B. Thorium

C. Plutonium D. Titanium

Q68. faraifaf@a & & FlaT 71 v, WATY] Fail WA H TAT] ST F T & FTAATS Tg1 BT ST Hehell 82
A. s B. ¥IRTH

C. weetfaas D. ersefaaH

Q69. What is the source of energy in a thermal power plant?

A. Coal B. Water
C. Wind D. Uranium
Q69. arT fagga WA # Flt T FdT F4T g 82

A. e B. grel

C. gar D. AT
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Q70. Which of the following is NOT true about A.C. power transmission?

A. Power can be generated at high-voltage B. Voltages can be easily stepped-up and down
C. Less loss of power during transmission D. Effective resistance during transmission is low
Q70. Rfaf@a # & #l 91 FY=, A.C. qra¥ THAAT F IR F g7 76 {2

A. 3Tg-dlees W TasTell 3ceet &1 ST Fehell © B. dleeal &l AT & FOR-A1d fahT ST bl &

C. TrAfAT & gRIeT ToeTell &7 &It FaT glcT & D. TR & gRIeT YT 9faer e giar &

Q71. Which of the following is NOT a property of good conductor of electricity?
A. Low resistance B. High electrical conductivity

C. Low specific gravity D. Low tensile strength

Q71. fawarfaf@a & & Fler &1 v fasrelt & 38 Aras F1 0T AL 82
A. & gfadre B. 3= faegd areshcr

C. &# fafdrse qeca D. S delel rEHzy

Q72. Capacitance between the two conductors of a single-phase two-wire line is 1 #F/km.
What will be the capacitance of each conductor to the neutral?

A. 1 #F/km B. 2 #F/km

C. 0.5 #F/km D. Zero

Q72. vF RATTd-ter T-aR—R AT & &l =rerent a1 aTRar 1 #F/km 1 BRraeh sraeen & veds s @ aRar #=r
g2

A. 1 #F/km B. 2 #F/km

C. 0.5 #F/km D. =T

Q73. Which welding is used to fix broken railway lines?

A. Carbon arc welding B. Solid state welding
C. Resistance welding D. Thermit welding
Q73. ;aggmasﬁwmm:t*mmmwmm%mm%?

A. FeeT 31T afesar B. a1 3w afesar
C. ufarer afesar D. uffie afesar

May 1, 2019 Page 20 of 25



Haryana Staff Selection Commission

Government of Haryana

Adv. No. 1/2019 Cat. No. 01, Junior Engineer (Electrical)
(Uttar Haryana Bijli Vitran Nigam Limited, Haryana)
Morning Session

Q74. In lamps, the discharge through the vapour produces UV waves, which
causes phosphor coating on the inside of the bulb to glow.

A. Incandescent B. Fluorescent

C. Gas-discharge D. Filament

Q74. AT &, arsT & ATeYH ¥ RFier UV a9 YT w3aT §, 0 a0 & ey FRGR FIfETr ysafad
g ¥

A. 3&cd B. gfadiea

C. dra-fagset D. fpemeie

Q75. In a workshop, the distance between the light source and the work surface is
considerably large. The illumination of the surface is to the square of the
distance between the surface and the light source.

A. equal B. directly proportional

C. inversely proportional D. not related

Q75. TF FHATeT #, T Wi AR FT F Tag F @ F gl FTO SAGT §1 3T g B whTd, Tag I wr
BaFdafNghFats ol

A. SR B. FHTIITAT
C. SgcshATdT D. 3T

Q76. Which of the following is NOT an advantage of ball bearings over sleeve bearings?
A. Can be mounted in any orientation B. Are more economical

C. Can operate in a higher range of temperature D. Has a long lifetime
Q76. FrAfaf@a # ¥ i 71 v Teha-faRew & s ata-falew w1 anr ad &2
A. frar oft sifRfaara & Tara R ST aar g B. 31T S glar &

C. dm9HTT $ 3= A0 & yaTelsT T bl & D. oIFdT Sligedehrel 8T &
Q77. Which type of electric drive is used in a travelling crane?

A. Group Drive B. Individual Drive

C. Multi-motor Drive D. Static Drive
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Q77. afaer el H fFE yhR FT safdFes 3159 HT 3UAWT fHAT S1aT 872
A. §g gisd B. egfarderd gisa
C. #FeLI Al 313 D. &few g13a

Q78. Lumen is the unit of

A. Luminous flux B. Luminance

C. Luminescence D. Incandescence
Q78. AT $ ghTS &1

A. AfATH Felrd B. offf=ie

C. T D. 3edfea

Q79. Periodic time (T) which is the time period of a waveform is the reciprocal of

A. Amplitude B. Frequency

C. Resonance D. Time Constant
Q79. ad! @ (T), St va a7 Bt $ FaamEfe &, FT A gl
A. 3mTH B. g

C. 3fefeile; D. &y f&ish

Q80. The ratio of Real power (resistance) and Apparent power (impedance) in an AC circuit
is called

A. Peak Factor B. Form Factor

C. Power Factor D. Crest Factor

Q80. fFHt AC Ry # arrafas 3t (wferer) ik wewrer 3ot (wfdameT) & sreqara #t T AT B
A. i therex B. BI# ey

C. greR therex D. shee therex
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Q81. Which of the following statement is true about RMS voltage?

A. RMS voltage of a sinusoidal waveform is B. Most multi-meters measure RMS value
inversely proportional to the peak voltage. assuming a non-sinusoidal waveform.

C. The RMS value of a sinusoidal waveform gives D. The ratio of the RMS value of voltage to the

double the heating effect than a DC current of the maximum value of voltage is the same as the

same value. ratio of the RMS value of current to the maximum
value of current.

Q81. RMS aIee¢H F Fa=y # [Arafaf@d # d Fid a1 FI I §?
A. T SATGHIT d3T HI RMS dlecs, RIWRX alecst & B. 31f8Iehier AeEIHAIEY RMS Hed &l IR-SATashT HIeTehl

G cshATATC BT B AT &

C. Tsh SITTshIT T T RMS #Hed, 38T Fed &l DC 4RT  D. dlecsl & Hitehdd Hed W dlecst & RMS Hod &1

Y JoTeTT 3 ST A9l F11d ST Bl U, URT & HfUFAH Hed W URT & RMS Hed &
3T o SIS gl &l

Q82. What is the mean value of alternating current for one complete cycle?

A1 B. 2
C.0 D. 3
Q82. wF Yut 9% & faw yearadt amr &1 itwe AT 74 82
A1

C.0 D. 3

Q83. Calculate the impedance of a circuit when the resistance is 3 ohms and the inductive
reactance of the circuit is 4 ohms.

A. 49 ohms B. 1 ohm

C. 7 ohms D. 5 ohms

Q83. 39 s Fike &1 yfay 3 37, aur afFe A R FMBFAT 4 3w ¢, O wiFe A gfdamn, i o A2
A. 49 3A B.13H

C.7 3= D. 5 3
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Q84. Which meter amongst the following is the combination of both ammeter and
voltmeter?

A. Wattmeter B. Energy meter

C. Multimeter D. Frequency meter
Q84. RFfaf@a # ¥ #ia 71 Miex, wiex 3k eI axat F1 TAeT 8?2

A. aresiex B. 3aff #Hiex

C. AEIHRY D. 3mgf #ex

Q85. Which amongst the following unit cannot be measured by multimeter?

A. Current B. Voltage

C. Resistance D. Frequency
Q85. AT & gERT AFAfaf@a # & Fw s1$ Y 7t AT ST Fhel 872
A. & B. dlecat

C. gfadr D. 3mafer

Q86. Watt hourmeter is which type of instrument?
A. Integrating instrument B. Recording instrument

C. Indicating instrument D. Absolute instrument

Q86. TAE-HTaR-HIeT 7T TFR T 3YFHIOT 82

A. sErRfear 3ueor B. RepISIT IURIOT
C. 8T 3uator D. TeEege IRIOT

Q87. Identify the instrument which can be used only in AC circuits.

A. Moving iron voltmeter B. Multimeter

C. Induction type wattmeter D. Permanent magnet moving coil meter
Q87. 39 3UHIUT Y Ugalel &Y, fAwat 3uanr s AC aRuy & fFar o war g1

A. T IR dleeHex B. #ediHex

C. 3l TIBY dTCHIET D. WHTIC AT HfdaT Fardel Hiel
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Q88. Which instrument is used to measure very high resistance of insulation?

A. Tong tester B. Megger

C. Earth tester D. Tachometer

Q88. s & 39 Yl Y ATY F AT fFw sumor 1 39T R S 82
A. 2T X B. AR

C. T3 &FX D. e

Q89. A moving coil instrument has a resistance of 95 ohm and a current capacity of 1mA. It
is to be used as an ammeter which has full scale reading of 10A. What will be the resistance
of the internal shunt?

A. 95 ohm B. 9.5x10% ohm

C. 9.5x10°3 ohm D. 9.5x10°2 ohm

Q89. T aifarelier Fal FT wfaer 95 3N TYUT URT &THAT 1MA ¥ FHHT 3TANT T TAR F &7 H fFam o 8,
fSr@a 10A #r qot aArver {fSer sqareer ¢ smale eie Far gfaer F41 geom?

A. 95 3NH B. 9.5x10% 30#H

C. 9.5x1073 30 # D. 9.5x102 301H

Q90. Which of the following is an example of pentavalent impurity used in N-type
semiconductors?

A. Boron B. Phosphorus

C. Gallium D. Aluminium

Q90. AfFaf@a # & Fla &1 vF, N-Y&R & Irtarast 3 39ANT T 1o aTelt TT-HANSAF IHYGHUAT FT 3GT6
A. aRi B. BIEHRE

C. AfoaA D. vegsiaga
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